CLASS 10" A.B.C.,D 2023-2024 HOLIDAY HOMEWORK
Mathematics Holiday Home Work

REAL NUMBERS

o
// .
following pairs of integers and verify that: LCM x HCF = Py o
the fo

| Find the LCM and HCFof .
of the integers. (ii) 404 and 96

G 336 and 54 o following integers by applying the prime factorisation methog.

s \'CI:RT]

Find the LCM and HCF of th
(i) 12 15and 21 NI R1)
[NCERT]

i) 8,9and25 [N IRT] ‘
{m)G' en that HCF (306, 657) =9, find LCM (306, 657).
(i) Giv r which is divisible by both 306 and 657. ICBSE 2019,

5 . mallest numbe ) :
(ii) erfiut:‘n‘i;ers have 16 as their HCF and 380 as their LCM? Give reason.
Can two ¢ 145 and their LCM is 2175. If one number is 725, find the ofher.

| HCF of two numbers i : : ‘
| x: HCF of two numbers is 16 and their product is 3072. Find their LCM.
The LCM and HCF of two numbers are 180 and 6 respectively. If one of the numbers is 30, find
the other number.
8. Find the srhallest number which when increased by 17 is exactly divisible by both 520 and 468.
Find the smallest number which leaves remainders 8 and 12 when divided by 28 and 32

ICBSE 2015

(ii) 17,23 and 29
(iv) 40, 36 and 126

Vo

respectively.
10. What is the smallest number that, when divided by 35, 56 and 91 leaves remainders of 7 in each
case?
A rectangular courtyard is 18 m 72 cm long and 13 m 20 cm broad. It is to be paved with square

11.
tiles of the same size. Find the least possible number of such tiles.
Find the largest number which on dividing 1251, 9377 and 15628 leaves remainders 1, 2 and 3
[CBSE 2019]

respectively.
Find the greatest number of 6 digits exactly divisible by 24, 15 and 36.

13.

14. Ina morning walk three persons step off together, their steps measure 80 cm, 85 cm and 90 cm
respectively. What is the minimum distance each should walk so that he can cover the distance

in complete steps? '

On a morning walk, three persons step out together and their steps measure 30 cm, 36 cm and

15.
40 cm respectively. What is the minimum distance each should walk so that each can cover the
[CBSE 2019]

same distance in complete steps?



POLYNOMIALS

L. Find the zeros of each of the following quadratic polynomials and verify the relationship

between the zeros and their coefficients:
(i) f(x)=x*-2x-8[NCERT] (ii) g(s) = 4s* —4s+1 [NCERT]
(iii) k() =42 -15 [NCERT] (iv) f(x)=6x>-3-7x [NCERT]
W) 9 = 7y* - %y = % [NCERT EXEMPLAR, CBSE 2019]
[NCERT EXEMPLAR]

(vi) ¢(x)= 2x? + %x + %

2. For each of the following, find a quadratic polynomial whose sum and product respectively of
the zeroes are as given. Also, find the zeroes of these polynomials by factorization.

g 12 5245
3’3 ® 516

3. If a and B are the zeros of the quadratic polynomial f(x) = x* —5x + 4, find the value of
< + g 2ap.
a

4. If o and B are the zeros of the quadratic polynomial p(y) = 5y*> — 7y + 1, find the value of
L)
o B

5. If one zero of the quadratic polynomial f(x) = 4x> - 8kx — 9 is negative of the other, find the
value of k.

6. If the sum of the zeros of the quadratic polynomial f(t) = kt? + 2t + 3k is equal to their
product, find the value of k.

Find the zeros of each of the following quadratic polynomials and verify the relationship

between the zeros and their coefficients:
@) px)=2*+2J2x-6

@) fx)=x*-(B+1)x+3
) Rs)=2s*-(1+22)s +2

Vi) f)=1*+4J3v-15

@) q(x) = V3x% +10x +73

(iv) g(x)=a(x®+1)-x(@a®+1)
[NCERT EXEMPLAR]

[NCERT EXEMPLAR]



LINEAR EQUATIONS IN TWO VARIABLES

SECTION A -
1. E:lt;ewnnm: e graphically the vertices of the triangle, the equations of whose sides are given
() 2y—-x=8,5y-x =l4andy - 2x =1
@) y=xy=0and3x+3y=10 [CBSE 2000}
o, _Determine., graphically whether the system of equations x -2y = 2, 4x -2y =5 is consistent
or in-consistent.

3 Determine, by drawing graphs, whether the followin

4.

O

lution or not g system of linear equations has a unique
SO :

@ 2x-3y=6,x+y=1 () 2y=4x-6,2x=y+3

Solve gra.phically each of the following systems of linear equations. Also, find the coordinates
of the points where the lines meet axis of y.

@) Zx=oy+a=0, () 3x+2y =12

2x+y-8=0 [CBSE 2005] 5x -2y =4 [CBSE 2006C]

Solve the following system of linear equations graphically and shade the region between the
two lines and x-axis:

() 2x+3y=12, [CBSE 2001] (i) 3x+2y—4=0,

x-y=1 2x—3y—-7=0 [CBSE 2006C]
6 Draw the graphs of the following equations on the same graph paper:
. 2x+3y =12
x—-y=1
Find the coordinates of the vertices of the triangle formed by the two straight lines and the y-

¥

8.

axis. [CBSE 2001]

Draw the graphs of x—y+1=0 and 3x+2y-12 = 0. Determine the coordinates of the

vertices of the triangle formed by these lines and x-axis and shade the triangular area. Calculate
the area bounded by these lines and x-axis. [CBSE 2002]



SECTION B

Solve the following systems of equations

1. Find the values of x and y in the touowing rectangle. [NCERT EXEMPL AR)
p ——>+¥% <&——
Y !
o3
7
)
v v
Fig.3.19
2. 11x +15y +23 = 0 3.54+y=08 x4 2 11
2 3 4
7 =10 5x y
7 —2 - = i __._._=_7
x-2y-20=0 x+% e 3
5-é+3y=8 6,3x—y+7+2=10 7,é+3y=14
x 11 X
6 4, 411 3
> W=-5  [CBSE 2010] 2y += =10 o [NCERT]
Z . 5 2 3
Z+2=13 ey i D
8. y 9. Jx «/.‘;
5.4_, 4 8 _ o
x y [NCERT] 75 ™y ~ [NCERT]
xy 6
10. 0.5x + 0.7y = 0.74 1132x - By =0 1zx+y =
0.3x + 0.5y = 0.5 3 _
PBr-VBy=0  |vcprm —X-=6
y-x
44 30 5 1
= + -_—10 _— =
13. x+y=2xy 14‘x+y x-y 15'x-—1+y—2 2
X"V -6 B et ch 8 3
Xy xX+y x-Y x-1 y-2
[CBSE 2002C] [NCERT, CBSE 9]




SECTION C

In each‘of the fol lowing .systems of equations determine whether the system has a unique solution, no solution
or ininitely many solutions. In case there is a unique solufion,find it: (1-2)

1. x-3y =3 2. 2x+y=5
Sy = 2 4x + 2y = 10
Find the value of k for which each of the following systems of equations has a unique solution: (3
3. x+2y=5 4. 4x +ky+8 =0
3x+y=1 2x +2y+2 =0 [NCERT]
Find the value of k for which each of the following systems of equations have infinitely many solution: (5-8)
5. 2x+3y =2 6. x+(k+1)y=4
k+2)x+2k+1)y=2(k-1) (k+1)x+9y = 5k + 2
[CBSE 2000, 2003] [CBSE 2300C]
7. 2x+(k-2)y =k 8. 2x+3y =7
6x+(2k—-1)y =2k +5 k+Dx+2k-1)y =4k +1
[CBSE 2000C] [CBSE 200
Find the value of k for which the following system of equations has no solution: (9-11):
9. 2x+ky =11 10. kx+3y=k-3
5x -7y =5 12x +ky = 6 [NCERT EXEMPLAR]

1. In a rectangle, if the length is increased by 3 metres and breadth is decreased by 4 metres, the
: area of the rectangle is reduced by 67 square metres. If length is reduced by 1 metf'e and
breadth is increased by 4 metres, the area is increased by 89 sq. metres. Find the dimensions of

the rectangle.
ABCD is a cyclic quadrilateral such that -£ZA = (4y + 20)°, B = (3y — 5)°, ZC = (4x)° and

- £D = (7x + 5)°. Find the four angles. [NCERT]
3. Yashscored 40 marks in a test, getting 3 marks for each right answer and losing 1 mark for each
wrong answer. Had 4 marks been awanded for each correct answer and 2 marks been
deducted for each incorrect answer, then Yash would have scored 50 marks. How many
questions were there in the test? [NCERT]
4. The car hire charges in a city comprise of a fixed charges together with the charge for the

distance covered. For a journey of 12 km, the charge paid is ¥ 89 and for a journey of 20 km, the

charge paid is ¥ 145. What will a person have to pay for travelling a distance of 30 km?
[CBSE 2000]

5. A part of monthly hostel charges in a college are fixed and the remaining depend on the
number of days one has taken food in the mess. When a student A takes food for
20 days, he has to pay T 1000 as hostel charges whereas a student B, who takes food for 26 days,

pays X 1180 as hostel charges. Find the fixed charge and the cost of food per day.
‘ [NCERT, CBSE 2000]

6. The larger of two supplementary angles exceeds the smaller by 18 degrees. Find them.
' _ [NCERT, CBSE 2019]
7. Meena went to a bank to withdraw ¥ 2000. She asked the cashier to give her ¥ 50 and

¥ 100 notes only. Meena got 25 notes in all. Find how many notes ¥ 50 and ¥ 100 she received.
[NCERT]

8. A shopkeeper gives books on rent for reading. She-takes a fixed charge for the first two days,
' and an additional charge for each day thereafter. Latika paid ¥ 22 for a book kept for 6 days,
while Anand paid ¥ 16 for the book kept for four days. Find the fixed charges and charge for
each extraday. _ [NCERT EXEMPLAR]



QUADRATIC EQUATIONS SECTION A

Solve the following quadratic equations by factorization:

1. Bxfx+1)=~4 2. 16x—-1-x9 =27 [CBSE 2014)
3. 6x2 +11x+3 =0 [CBSE 2010] 4. 2x%+ ax —a®=0 [CBSE 2014)
1 1 6 1 1 1 -

5. - =— - . =—,x#4,7 [NCERT
] Bk 7,x¢1, 5  |CBSE 2010] 6. W A 30’ ]

— 2 8 16 15 ocp

o + ==, “RQF 16 4 _ -1 [CBSE 2014
x-3 x_2 5’ ¥*0.23 [CBSE 2013] 8. . 1 Hl,:caeo ]
x+3 3x-7 3 x+3 1-x 17 :

9. = . =59 - —e = x 20,2 CBSE 20171
x+2 2x-3  ¥*"%5 [CBSE2017] 10. ~— -—==7 [CBSE 2017]
x-3 x+3 48 4 5 3 _

]1. SR = —: = e g i i O,____ L:.,.
x+3 x_3_ 7 X¥*3-3 [CBSE2015] 12 aaCar- Lo [CBSE 2013]

3 1 2 1 3 4 29 1
13. -——=—= .= = 2 1,-1,— E 2015]
e 4 B0 g BRI Mo e e T iy [CR0R ey
2 3 23 ;
15' x+1+2(x_2)_§’x¢0’—112 [CBSEZ::J‘
SECTIONB
1. Determizne the nature of the roots of the following quadratic equations:
@) 2x2—3x+5=0 ' (i) 2x* -6x+3=0
(i) 3x* ~4V3x+4=0 (iv) 4x* +4/3x+3=0
2. Find the values of k for which the roots are real and equal in each of the following quadratic
equations:
@ 4x* -2k +1)x+(k+4)=0 (i) 4x* -2(k+D)x+(k+1)=0
(@) x* ~2(k+1)x+k* =0 (v) K*x*-2(2k-1)x+4=0
) k+Dx*-2(k-1)x+1=0 . (Vi) x* +k(2x+k-1)+2=0
3. In each of the following, determine the values of k for which the given quadratic equation has
real roots:
@ 2x* +kx+3=0 A (i) kx(x-2)+6=0

(i) x* -dkx+k=0 - (iv) kx(x-2J5)+10=0



SECTION C

10.

11.

12,

14.

15.

16.

17.

18.

. The sum of two numbers is 9. The sum of their reciprocals is 1/2. Find the numbers.

. The sum of the squares of two consecutive odd positive integers is 394. Find them.

[CBSIL. 2009, 2017]

The sum of two numbers is 8 and 15 times the sum of their reciprocals is also 8. Find the
numbers.
. Two numbers differ by 3 and their product is 504. Find the numbers. [CESE 2002 C]

. The sum of two numbers a and b is 15, and the sum of their reciprocals lanal is 3/10. Find the
a

numbers a4 and b. [CBSL 2005]

[CBSE 2612]

. Three consecutive positive integers are such that the sum of the square of the first and the

product of other two is 46, find the integers. [CBSE 2010]

. The difference of squares of two numbers is 88. If the larger number is 5 less than twice the

smaller number, then find the two numbers. [CBSE 2010]

. The sum of the squares of two consecutive odd numbers is 394. Find the numbers. [CBSE 2014]
. The sum of the squares of two consecutive multiples of 7 is 637. Find the multiples. [CBSE 2014]

The sum of the squares of two consecutive even numbers is 340. Find the numbers.
[CBSE 2014]
The sum of a number and its positive square root is 6/25. Find the number.

The difference of two numbers is 4. If the difference of their reciprocals is %, find the numbers.
[CBSE 2008]

- A two digit number is 4 times the sum of its digits and twice the product of its digits. Find the

number.
The difference of the squares of two positive integers is 180. The square of the smaller number
is 8 times the larger, find the numbers. [NCERT, CBSE 2014]

The difference of two natural numbers is 3 and the difference of their reciprocals is % Find the

numbers. [CBSE 2014]
The numerator of a fraction is 3 less than the denominator. If 2 is added to both the numerator
29

and the denominator, then the sum of the new fraction and the original fraction is 20° Find the
original fraction. . [CBSE 2015]
Find a natural number whose square diminished by 84 is equal to thrice of 8 more than the
given number. [NCERT EXEMPLAR]
A natural number when increased by 12 equals 160 times its reciprocal. Find the number.

' [NCERT EXEMPLAR]

e DO THE WORK IN SEPARATE NOTEBOOK.



Hindi:-
1 o1 FATFT TRANST -
T 31%uTraer 9eer 3iR 3cal Yer &
JelATcHS JEJ AT
sufaw-sitnfore Reafa
HEpfar
hell 3R gEATIeT
el e
Guerd TheATcHe fharehery i sifReafFa Rareas €9 & Y, 9d% 30 g &
forT w1eTs7eT 100 2rsg 3ATRTT §1)

2. TAARTATTH fohdeh SaRT I & | 3 HGIhICT & 3ol ld @%mﬂ’r
ST (STEhIUS, IUTEATHIVS, 3RUIHIUS, fhSFHThIUS, YrelhiUs, HhThIUS
3R 3cchis |) Tedeh T ool 70 § 80 rear H T Afged Y|

3 37TV o
T~ 1 37T 7 319 Agleaa
(TS FAgea ¥ Fafdd)
2 Seleic: Ush TAR Hifd
( H9IR 4 ga1ad)
4. AT TET (P.T.1) & T T 7T qraarshar i 716t & IR |




Science

A.l.P :- Compare the fauna of Uttar pradesh with Arunachal pradesh under following
headings

Habitat and Adaptation
Wild life sanctuary
National park

Note:- The project will be assessed on the basis of creativity, pictorial presentation &
neatness

Revise PA-1 Syllabus
Chapter 1. Chemical reactions and equations
Chapter 5. Life Processes

Chapter 9. Light

English
1 Fill in the blank by choosing the correct option:
The electricity department will __ the power for two hours this evening.
a. Shutout b.shutoff c. shutdown d.shutin
2.Read the conversation between the coach and the student
Complete the sentence by reporting the reply correctly:
Coach : You must attend morning practice regularly.
Student : Yes, | will as | am feeling stronger now.

The coach reminded the student that he must attend morning practice regularly, to
which the student replied

3. Select the correct option to fill in the blank for the given line, from a newspaper
report. The report read, "there -- traffic diversion due to the student parade on
the main street."

a. Cannot be b. should be c. must be d. will be



4. Select the option that identifies the error and supplies the correction for the
following line from the health report:

The incidence of malaria have reduced in the city

Option no. Error Correction
A incidence incident
B Have Has

C reduced Reduction
D In on

5. Complete the given narrative by filling in the blank with the correct option:
The attendant several guests at the same time to ensure prompt service.
a. waited on b. waited in c. waitedup  d. waited

6. Fill in the blank by using the correct form of the word in the bracket for the given
portion of the letter:

Subject - Request for Leave.
Dear Sir

| request you to grant me two days leave as | (have) visit my ailing
grandmother.

7. Report the dialogue between two friends by completing the sentence.
Rahul: Saheb, what did you like most about your visit to the village?
Saheb : The sense of joy in the simple things of life.

In response to the question about what he liked about his visit to the village, Saheb

8. Identify the error in the given sentence and supply the correction :

The introduction of traditional sports in school has led to exciting among the
students.

Use the given format for your response :



Error Correction

9. Maria shared some information with Mathew about her flight to Kanpur. Report
Mathew's question.

Were you nervous on your first flight?

10. Fill in the blank by choosing the correct option, to complete th hoarding on a
shop.

NEED A GIFT? YOU FIND ONE FOR EVERY OCCASION
(@) OUGHT TO (b) NEED (c) WOULD(d) WILL

11. Select the correct option to complete the narration of the dialogue between Anil
and Sanjeev :

Anil: Where are you going?

Sanjeev : To the airport.

Anil: May | drop you there as I'm going in that direction?
Anil asked Sanjeev where he was going and offered to drop him as
(a) he could be going in that direction

(b) he would be going in the direction

(c) he is going in the direction

(d) he was going in that direction

12.Identify the error in the newspaper headline. Attractive packages for different
Tourist destination- Mizoram, Kashmir, Kerala, Goa.

Use the given format for your response:

Error Correction



Writing Skills

(a) You are pained to see that in your city, there is no proper arrangement for
cleaning of drains. There are heaps of accumulated garbage and stagnant water.
Write a letter to the Municipal Commissioner of your city complaining about the
same as there is a fear of outbreak of disease. You are Alka/Ashish. (Word limit 100-
120 words)

(b) The authorities have been claiming that the roads in your town have been relaid
and repaired. But no such work done is seen. Write a letter to the editor of a local
newspaper expressing your concern at the present situation and giving suggestions to
resolve the problem, in 100-120 words. You are Prabhu/Parvati of Vivek Vihar, Delhi.

(c) Rehannais to write an analytical paragraph on 'Hazards of Smoking. Using your
own ideas and the information given below, write the paragraph in 100-120 words.

Smoking - drains out income of an average earner - affect health badly - vital organs
are affected - harmful for passive smokers -need to educate people - Role of media in
creating awareness.

SOCIAL SCIENCE

Art Intigrated Project

Choose anyone of the following activity to represent landscape/ history/festivals/
Costume/ Cuisine/art & craft/ music and dance of Arunachal Pradesh

# Painting

# Collage

# Mask making & Jewellery making
# Poster designing

Note: It’s individual activity Use A4 sheets



